‘1
2011 - DODGE JOURNEY 2008 PRESENT
Installation Instructions
90 Minutes
NOTE : Before starting this installation make sure all the hardware is included and this part
number matches your vehicle
\_RE\I—E 650-AB-NS J




[2011 - DODGE JOURNEY 2009-Present m-k 1

6 DIN 6923:M10 HTC 262
2 M10x30 6 @ :TI% 269
6 DIN 934 ; M6
) Ne) L',TS,§3° DIN 125
12
DIN 933 : M6x25 4 M6

M6 = 8 Ft.Lb
M8 = 18 Ft.Lb

M10 =35 ft.L
\.

ATTENTION PLEASE | DO NOT TIGHTEN ALL OF THE SCREWS UNTIL ALL OF THE PARTS AREINSTALLED

p your accesories clean. To prevent corresion and t mantain your high quality finish, wax or polish regulary with quality stainless polish,

LUse a non abrasive type automotive wax. Any use of abrasive soaps, polishes or waees can be detrimental to the finish




1) Locate front mounting area #1

2) Insert HTC 230 as shown on #2

3) Install bracket as shown on #6

4) Mark hole for drilling #4 and proceed to drill 3.5 mm or #28 US
9) Install bracket but do not tighten yet. Move to middle bracket.




Locate middle mounting area # 1
Insert HTC 262 as shown on # 2

1)

2)

3) Install bracket as shown on #6

4) Mark hole for drilling # 4 and proceed to drill 3.5 mm or #28 US
5)

Install bracket but do not tighten yet. Move to rear bracket




1) Locate rear mounting area # 1
2) Insert HTC 230 as shown on # 2

3) Install bracket as shown on # 6

4) Mark hole for drilling # 4 and proceed to drill 3.5 mm or #28 US

5) Install bracket but do not tighten yet. Proceed to install running boards and align, once alligned you may go
back and tighten hardware M10 to 35 ft Ios and M8 to 18 ft Ios M6 to 8 ft Ibs. Do not use power tools as this may

5 damage the running boards and void your waranty.




2011 - DODGE JOURNEY 2008 PRESENT Wi TeT g |

' I-IT! 230
DIN 933;M6x25 H@

69
DIN ‘I;!:MG .

DIN 6923;M10

DIN 125M6

9
4
4
4
4
y
4
4
b
4
9

(- - S - SN - SN - SN - - SN - A - S - N - 4

% y
q
a
4
y
4
h
y
4
4
y
q
4

F- R - - - - S - S - - A - S - - - S

HT! 230

HTC 269 On our website you'll find a wide variety of high-quality Running Boards & Step Bars from Romik.

s N\
EE ;-j DIN 6923:M10

0w
S8l

:-:
4

Pl

=




	Journey 09-16 RAL RB2 RZR_Page_1
	Journey 09-16 RAL RB2 RZR_Page_2
	Journey 09-16 RAL RB2 RZR_Page_3
	Journey 09-16 RAL RB2 RZR_Page_4
	Journey 09-16 RAL RB2 RZR_Page_5
	Journey 09-16 RAL RB2 RZR_Page_6

